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‘The wife of’; even the wife of a man — WIN NWK WIBR NN

Overview
The &n>92 expounds the P109 of "3 nWK 7°2wa nx',' to mean that even if the n"o°
was an X NWR, she is still N0, Our Mo0IN explains why a w7 is necessary.

mooIn anticipates a difficulty:
- (3,2 pr1mD) SN 1 799 NRONTD rpmaa MmN PNRT 9 HY IN)

And even though there is no marriage for gentiles, as is mentioned in '7 p=p

MInSR, so what difference does it make if she is an WX nWX or not? There is (seemingly) no
additional prohibition on account that she is ‘married’. Why do we need the 7w97 of 19°9%) NWX
R nwR?!

mooIn responds:
19920 “HYND XY INUNA DA (2 muxan) BNIT AUY KIOR 0PN Y910

Nevertheless (even if there is no 17n°» 21°17) there is a awy mxn, which forbids
relations with an " nwR, for it is written; ‘and he cleaves to his wife’, which we

expound to mean, but not to his friend’s wife. Therefore if not for the w17 of NWX, we
may have thought that n"5” is only n7n if she is a 7119, but not if she is an wX nwX. The word
nwK teaches that she is X% NN even if she is an WX NWK.

Summary
There 1s an 7wy MO°R to have relations with a n°721 who 1s married to a >221.

Thinking it over
The 05 of \nWRA Pan is regarding a 11 13; does this apply to a R as well? Is

this an XN %72 MK or only 1312717?°

!'x0,x3 (R¥N) o727

A marginal note amends this to " (instead of n°n1d).

? The ®n™"2 there expounds the P09 (in %,5 X7P™) which states 1T¥7 DWR NX 131 AR WX R, to exclude o nX NWR
(the wife of a 3. See >"wA there NWRY 7"7 who writes; XN217 922 12 P19°N RI7M) 1217 PYLITP PRY JPYINWK.

* 13 pros.
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